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Module Name : TET - Paper 2 Tamil - Maths and Science
Exam Date : 03-Feb-2023  Batch : 14:00-17:00

Client Question

Sr. No. D

Question Body and Alternatives

1 1 In which stage of Piaget's cognitive development does individual move beyond reasoning and think more abstractly.
HNwrCguiler sinfley aueTiss Bleneaus Eher 6lbg Bleneuuiey SeaflbL LGS 56060 kb S §é e eumer
FIBSMET (PNDES BT ?

AI Sensorimotor stage

Ljevenfluig: & Blemev

'A2 Pre-operational stage

QFWNEG WMHLILL Blensy
‘ZAB Formal operational stage
(WDWEFQFWE Bletrsy
{3‘4 Concrete operational stage
LUGLQUTBET Q&FW6Blensy
The cause of physical and psychological abnormalities :

2 L6V MHMID 2 6TFMNIHS GenMUTH&H6T gFMLIL & STFerorid :

1 .
Environment

Ghmleney

2 Heredity

oIy

A3 ndividual

seflBUT

54 Mental health

LDEOT[H6EVLD

3 3 In which period the child's behaviour is ego-centric ?
6T % Blenreuu N6l GLben U6 HLG6mS &6iT emloll FbGemetulley 2 eternal 2
"Al 0 - 3 years
0 -3 GU(BLBIGET
‘62 3 - 6 years
3 -6 GUIHLMBIGET
'A3 6 - 9 years
6 -9 QU(BLTRIGHET
_A4 10 - 12 years
10 - 12 QU(HLMBIGH6T

4 4 The basis of a personality trait is determined by .
1060715 6011607 219 LILIEDL 2, @B6mLO LIsvoTL| —— Iq LILIenL U6 &Hevoflaas UGB mSl.
AI Environment
GLpBlene
.'/\2 Heredity
gy

63 Society
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FepaLD
4 Peer group
SUUTTSW

In which stage the peer group relationship, school atmosphere and other environmental factors influence his emotional behaviour ?

GTHSARUMTH LIheuSHev RUILITTE LD 2 M6 &6, LiaTerfl @6y LommIh & M Mg @ LPe6V &ITTeul &6l naTe el (&S
LSS W LIMTH&HGLD ?

Al Infancy

&Lpailll Lieuld
A2 Adulthood

WHT LGB6ULD

A3 Childhood

GBS L[HeULD
54 Adolessence
GLWILU LHeD

In the identification and measurement of emotions the tri-dimensional model of introspective approach was developed by :

LOETREUWFF MW SjemLWMeTILG S SIS0 HmID 3i6mall(H G696V 2 &HCHTEH G 2|80 L0606 (L& &n mi
WIS flenw 2 Beume:&Rweal :

fM Charles G. Morris
Fmyevev &l. Gomifleny
A2 Withelm Wundt
af6LEQMEVLD 2 6ooTL.
53 McDougall

QL&GLITEHE

64 Jose Delgado

Cyme QLLCHELIT

7 7 The ability to adjust oneself to a new situation is referred as :

2@ LUHW GLBlemevE @S S&SHSTHELIME 6(H6UT SeoTem6 6] ML L WIGSTE RS Q& TeTEhLD §men ot
ettt GMILILN L 6urTLD.

fM Motivation
2618810

fAz Adaptation

SHEHeULOLIL|

3 Tolerance

QUIT(HS &1 86\ & ITETEH G 60
‘_/\4 Intelligence

51 6507 600T 9] 61

8 8 Lack of is not a symptom of mental illness.
@)6L6VLITENLD DETGBTUIS S TET 2UMI&GN) 2j6L6v.

fM Self Confidence
FetterhL&ena
;AZ Emotional Stability

2 eI IR [Blemevs S eiTenin
53 Tolerance

FRLILS S6Tenln

64 Self Esteem
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Labelling Theory of Delinquency falls under category.

g (WSHTWIGLW CamLum@® Qbm Lmpe| CaM(® euanswiler L auGRmS!.

j“ Individual Theory
SeoflwimeT GamLum@
2 Environmental Theory
GLpmlemnev CamLLIm()
‘:\3 Choice Theory
Cxie] GaHmLUM®
4 Hereditary Theory
UgbUey GaHTLLm@®
The intelligence test developed for those who know the English language is

iR QFHHS RHaIHEHSETSH 2 (HeUMHSLILIL L Bieworeormle| G& ME e 6ot

fM Army Beta test
271 LT GF g ement
2 Pattern drawing test
SLLemOLIL] eUemTLL G& TS 60 60T
53 Army Alpha test
T @608 LT C&F T 60 60T
_A4 Test for vocabulary

2 FaiflliLg Gargeme

Who said personality is the combination of Id, Ego and Super ego of the mind ?

2L,EHELD 6TETLISI @)L, FCSIT LoMMID @GLILT FGSIT LOGITLD & Weu M6 QSMELILITELD 616018 FoMIWIGUT WITH
?

_Al Eysenck
6TUIQ6rV60TES
A2 Ader
SjLeury
fu Murray
Wwyey
64 Freud

Ugmic

Assessment of Aptitude test is :

BT L CFMHen6T HLD&HETL 6Teng CFMGemeTUIIL 2 Gald ?
?M To test general intelligence
QUMM ITEOT [l 6u0T6u0T 1l 6]
‘AZ To test an individual potential to learn specialized activity
seofl meuifler LN7sCwWas Qawmumh

f“ To test actual knowledge and skill attainment
2_6UOTEMLDLLITET N6 DMHMID HMEIT 260L_G60
54 To test one's potential to learn

HHGLD Hmener LH LN

Juvenile delinquent is aged between globally.
2 & gjemalle @ 6Tid Gmmeurerflgerler euuig auyLbL] 2,GLD.

2,&LD.
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Al 10to 13 and 14 to 19

10 (V&6 13 LDMHMILD 14 (DG 19
A2 151017 and 16 t0 20

15 W&H6L 17 LMHMILD 16 (PG 6V 20

A3 60 10and 11 to 20

6 (PSH6V 10 LDMMILD 11 PGV 20
A% 51610 and 16 10 20
5 (PS6V 10 LDMHMILD 16 (NGH6L 20
14 14 Stimulus-Response bond theory of learning is proposed by :
&MHMEN 6L HITewoT L 6V-Z16VMBIG 6V LlemeuoriiL] G&TL_LIM@H WImImey (neor QuomySlwiiu’ L g ?
! Pavlov
LIimel Gevrmed
;AZ Thorndike
STTeTenL &
A3 Hultis
amevedleny
4 Skinner
6N & 6OTEuTIY
15 15 Who said problem solving is a 'Forked road situation ?

Nrggenarenwgd Srssede LS TBlensvenw "Glener eulfl Blenev" 6T6ord dailieuy Wiy ?

fM Pascal

LIMen &6

A2 Galileo
HeSe0lGwIm
:A3 John Dewey
sgmeTGul
54 Newton
Blw, L Ledr
16 16 are expected behaviors of males and females in many situations.

L6 @GLpBleneusserfléy ou,6uor M mILD QLTS erfler TR FLUMTSSLILGID BLGns.

fM Gender
Limedleorid
52 Gender stereotype

umeSleorin suie flGwimenLLi
63 Gender Roles

umeSleor LimigerfliiL
,A4 Gender status

LimeSleor Blemeu

17 17 Introspection means :
915CBTEHS 60T QLITHET :

fM Self - Evaluation
&W HILTEH

52 Self - Adjustment
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20

21

20

21

S QUTmHSSLILTH

53 Self - Observation

& 2 MHMIGHTE &6V
54 Self - esteem
&W Gy
One of the technique of motivation in classroom situation :

2 UGSLILMM GLpedl6L 26188 L1LI(H & BI6USH D& T (I 255 :

! Punishment
& 600T L_60) 60T
2 Linking the new learning to the past
LIemnpW SMHMenev LISIW &HMENL 60T E) 6560075560
3 Forgetting
DOS S
;A4 Loud reading
2 T5H8 UTH & &6V
Which one is the stimuli that a person receives knowledge from their experience and from others ?

62([H L0601 & 60T H60T S| WILIGUSH GOTTEILD DMHMEUFHETTIN Hnlemel QUMIAISDES 615l 2_HSIS60TEH 2_aTerS ?

:A ! Nature

Wy

'AZ Nurture

GLpplene
_A3 Language

Qumg
;A4 Learning
&HHM6L
Profounder of psycho-sexual development is

2 arliumedeor aueT&FFR emw GG L ey

?M E.H. Erikson
@.amg. eriflg g eor
2 Jean Piaget
Seor LNWITGe
;A3 Kohlberg
G&ITeL QLTS
4 Sigmund Freud
A& nevorL LNFml
'Good boy - Good girl' orientation indicates which of the following ?

'I56V6V 60)LILIGDT — [56V6V GILIGHOT' 6T60TM GIBM&: S H& 6 LD & 600TL6UMH MIET 6Temd GMIHH MG 2

,Al Pre-conventional level

(LHEG W QULPES LI Blen6v
fAz Conventional level
QULDE G LOMEDT LILG [Blemey
Post-conventional level

A3

Nben sW euLp& & LG Bles)ev

A4 Both Pre-conventional level and Post-conventional level
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26

22

23

24

25

26

WHMS W QP& S LI Bleney Inmmild LNHens Ul auLp& & LIl Bleney
According to Taylor's theory, there are levels of creativity.
L 6Vifl60T G MLLIML_IQ63TLILG. 24,88 8B MEdT [Bl6m6v&s6iT .

Aly

4

A2 s

5

A
6
Ad 4
;

Which is not the Laws of Learning ?

B LD 85 600T L6 MIET 673 HMHMeL NG l6v6v?
AI Law of Readiness
2SS e
.AZ Law of Exercise

LuWiIHe NG

fA3 Law of Motion
QuW&HS S
54 Law of Effect

aflenema] e

16 personality factor inventory to measure one's personality was proposed by :
2L,EBEMLEMW DG LILL 16 616D WITEIT 2, EH6mL& &TIT60011&6rfleor LIL 19 U606V (LPeTQ LM B& e :

Al RB. Cattell
RB. &MLL6Y
éz Meyer Friedman

GWF SLLNeny®H GLoedT
"A3 Ray Rosenman

Gy Gymerv@LDedT
64 Jung

QM

Cognitive and psychomotor domains are acquired more effective in absence of :

SMle) LHMID 2 LW Leumhisser o5 s aflanera|dlés Blenauuiley SLh&memild 660Til60 §)6V6TO6
QuUMLILIG S eBTmEDT :

Al Practical Interaction

QF WM G)6t L6 6mr6or
.'/\2 Emotional Interaction
LLETQ6U(WEDR G evLailemeor
AS Moral Interaction
RWES @ L ellener
A4

Classroom Interaction

G LILIemM @) 6mL6dlen) 60T

The children are able to take any problem in a logical sequence in the stage of :
@bs Bleneuulley GLOHMSSHET 6THS (B LITFFameTen WD &758 euiflengduiley 61(h) &G0 Hmeor
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QUMIRMTFEET :

Al Sensory Motor Stage

QG TL( 2_600T(HLD LIHeULD

62 Pre-Operational Stage

LDETFQ&FWVLITH & EHEH S (LDHENS I Bleney
A3 .
.~ Concrete Operational Stage
L|6V6OTE: 6T 2_6U0TJEUEN & MGG FHH & &1F QF WL LD6TdF QFWeLLITL (B Bleneu
'A4 Formal Operational Stage

WMWTEHF FEH GG 6TevoT600r 1861 60T 219 LILIem U6 Q&FWeLLIHILD LD 60T Bl 6m6v
27 27 Under achieving students are to be referred to in the school guidance centre.
Lieierl aufl& ML (B M WSH 60 G6MM SI6ML 6 2_6ML LI LOTE00T6U & 60 6T &6 GMIULILLUL Ceustor(b.
1 Physiologist
2 | ME&FW6eSIWI6L aueLayieoTy
2 Counselling Psychologist
siflejeny LS@BLD 2 6meWeumy
53 Psychiatrist
LneoredluieV MBlL|6uor
‘:A4 Physiotherapist
WLBEHEG NRHEFTF aULIBT

28 28 Mental health according to P.V. Lewkan is
BITE G 60T T HMILILILY. LOGITIHEEVLD 6TEOTLISI :

Al Living peacefully

|G WIS QUTLDeUS)
:Az Being violent in public
FNGHS T 6V aleTenmCWITH @BLILIS
A3 Very kind with children
GBS &L LD S(60TLIME @ @BLILISI
4 Having energy to do everything
6TELEVITOIMEMMULD QF IS METET &85 60U G185 Teuorq (BLILIGI
29 29 General psychology deals with the behaviour of the :
Qumalaumer 2_smalliey efleurflLiLIg! BL&60 S 56T

fM normal human beings
FMGTT60r L0601 ST 6T
A2
.7 learners
LOTEO0TME &[T
,A3 abnormal people

S| FMGTT60T L06vfl S T& 6T
A4
. consumers
BIGTCeUTT

30 30 Which one is not a technique for directive counselling ?

L 66 (1h 6U eoTEU M MIET 6TTHS 60T 3 pfleyemT LIS TSE 6060 2 6TeT QS MLA6L HIL LILD {606V ?

! Forcing conformity

2 B LHSSIHON 2 HEIFH6
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A2 Changing aptitude

BT LM WOMHMISH60
3 Changing the environment
&LPEMEV LOMTMHMIGHEV
Learning the needed skills

A4

GG 6MEUITET HMEITEHEM6T &HMHMEL

P Clum s &Is :

=

g () ptlpssn
HAflss (i) eSensrClLFFid

8B

#iflggsorett wEDbssorar (i) GHOILY aflsneTClwWEFID

Gl

Siwsrss FAflEsmer (iv) QUWelITFsD
Al .. . .
AL ()6, B)-v), (-, (D)Gil)
A2 (W), B)Gi). (). (D)-Gi)
A3 (A0, B)-Gi). (O, (D)(iv)
A4 A, B)Gi), (O-(iv). (D))
2|32 “aumpeleofley QFLDENDEMUWIF Q& UILIIGT BUI... 6T60TM LIML 6MEVLI LIMIQUI6T :

UMTH &meeor

Al

A2 Lnp@w

A3 . .
. &600T600T S [TE 60T

,A4 QU Tevor| & & 6oT

33|33 "QBTIGWETTT QFLI CHTOVILD" QSTIGWETTE 6Teurd GO LG :

fM Q&M WU

fu &l

f“ SbLel

:A4 eurmy efyy
34 34 QUG [HEOIL 608 QHG QUGVGVITETT" 6Te0TLl LIGPOLILIGILIGUIT :

;M QMg @muilm C&HeuGH LIMeUT6oT

A2 .
. OIS Beuer

A3 nsmasell UTFGHWmy
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54 @I MEIMHIS 9 &HETTT
35 35

QUM STULWILD' 6T60T D emLP& & LILIHID BTV :

_Al 1060011 GLD & 6M6V

:AZ FelILSH&HTFLD

:A3 G615 GBS Lo 6vor|
64 &OTLVGBHTF
36 |36 LNedTeueuesteumiat 2 ulTwngev LisoorTFRUNVeuTHEF QFTevemevs G5 HASH & &6 LD.

Al .
. ST
:A2 QUTHF emev

53 FemeulpS

64 QUITesTEnI6v0T(H

37|37 CauBTFRAWTT LienLuNed QU6 L6y & &8 Seanevenln euB S SeuT :

Al .
2 emLwimer

A2 guded
A3 . . .
. 3| EHFem6LWILDLOITET

fM L0eooflWiLhemLn

38|38 FAHLGS6 LHMIW GMILIL &TeoorILIHID BTV @ 6T 6 & MeoTenL0WIMETS! :

,AI Qs mevas LW

52 FeILB &MTFLD

_A3 L0600 GLO &5 6076V

Ad
. UDBTeny)

39|39 giflwmer auflemswenmuiley SiemIDBHSIETeTENSHS CHIHESEHIS&HELD :

AL Quomt @, of, oo, wevry
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:AZ QUML®), 6V, e, ef
A3 . . .
. QUITL®), S{6vT, LO6VT, of

A Qi @, of, wes, sie

40 140 @1 — 6TedTEULD Q& MELEN6IT QILIMBET 6T60Te0r?
fM Flemeor
:Az )6 60T
A3 Lamar
A Lamemr
41 41

@6V’ eTEOTEILD 2_(HL @ Tesor(® Geummieningerfley @L b QUMILD. {em6l :

Al

A2 94

A3 s

N

42 |42 LeNedr GHTHMLD WNSETEH 2 HTeUS! QUGN 2_6T6T B606VE: 6T 61856 60T ?

Al 4
A2
A3

A4

43 |43 0L 6 DI IIT R(HEHE Gl9enUs

G WITEH Geuevor(h LG,
- BHmEGMefler LUNETMIEIBLD G)606soT GLOMENEOTEN LIS & 60T L1155,

Al LOIQ 63, LOLQUITT

A2
7 Denw, GeWns
A3

GO, Gl

A4
. GlgemU, IgEmW
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44 a4 S MICIENLS B BEBTET LIEEFTL LOME evs 5 e STEOTII Q& METTL L LILIG S M.

Al . .
. 2.55Tmweor

A2 . .
. s SEBTET

53 D& FRIGTTHS

:A4 Geurr]

45 45 FTHQ - : .
TOUWSSIHEH6T FITITSHM6 :

Al e uig@uou
A2 . .
. 2.y erwss
A3 P
. SSLD
A4 . .
. ehflugisyib
46 46

LDIT. @ JIELOMei& &MY S6oflESieuD QUMM Slenm WM ?

,Al @evEE W alie]

A2 . .
77 augeummmmiiey

53 Lemaflufluich oylile)
A4 S
M aispamie
47 |47 STl & SIauTeT SeTTL & &HSTerTF LADHS 26 6T 2
Al . .
. WSS

A2

. BearaGseon

A3 . .
YT E

M @ferymn

48 |48 D&TS GUIHHD - ASTLILMDHMD QEFTe:

Al

QU6VLD GUMH S MeoT

A2 . . .
77 umLLD U S est

A3 @UITedTLD
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jM LD (T 600T LD
49 |49 neuofl G s ameuuiledr (WS & TLNGG (ST (NG6dlew SjeteoridlL L el :
_Al rged
A g
;A3 BT
jM FalGHHeven s
50 (150 WsH Ssmell fTeTm SMWESSELILEID §)6nFsHS5smel
:AI L0&&6TLD
éz e
é:; [l
jM 2 H&Hme
S CUTESHIS
(A) (LA - (1) @ussbd
(B) Lmsud - (2) weni
(C) =mmemssor - (3) suullmy
(D) omfl - @) wd
Al
. (A, (B)-0), (©-2), D)(1)
A2 (A1), B2, (O-3). (D)}4)
A (A16), B1@), (©-2). -1
A (A13). B)-@). (O-1). D)-2)
52 |Is2 QT (NS 6T S &1 6T' 6TevoT6u0r & 60 & ©
Al 4
AZ 53
A3y
A4 21
53 |%3 QBUISMHEHI LITL6)&em6T @)W Hmlwel Wy ?
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54 54

55 55

56 56

57 57

fM GuIWeTITy

A2 .
L LBy

A3 .. .
. BEVeHEIeueDTITT

:A4 QULCUTHWITH

‘Feofl Bm@! eTedTLISI WT@HML SoHmi ?
Al .
. @eTeneuwITy
A2 LnpBwmy

.A3 UMy & &me 6ot

:A4 &elLneuof]

“FLAD BLO&HG 2 Wlen Tl GUTETMSI“ — TLIQUTHET6L abg @) TevorLmb Gaummieniog QGTL ?

Al
2 emLenin

A2 2 fflemin

j“ REH

A4
. 569

"UGSSM6YE Sl TTWF" — 6Tedrmi L&pLu@G U6 Wiy ?
Al . . . .
. UL (H&CHMLemLWITY

:Az DBHSEHTH
A3

77 2 (h\nenev BTTTW el
:A4 sellymwy

enaumle] 2 ulemy sevorL s :

fM 856007 U IT6dT
A2 @

A3 .
D BSOS
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A g

58 |58 sl &G 2 Wyl CUTETM S eTetTenild Q&ML flev @ L QUM mIeTeT CoummienLouiler alemns s

G0 NINICL:S

Al L
- 1Y ¥: Yo

2 sz
N essd
M Bese
59 59 “GFLDLIIT (@1Q.60TITT* 6T60TLIGI
:AI FlemerwING QUWIT
A2 gneveure QuIWF
j“ @LeanE QU

:A4 QUITIHETITEG QUWIT

60 60

"2 | 60l6tT 2 MIF) 2 6oL WGy

2 UEHE0T @)60TLILD 2 60 L WeUTLD"
— eTedTenI D LIML6L euifl @ LD QUMM HT6V 6TSH ?

f\l FW C2mH

,Az LO(BLO&EET UL Lomesr LSl wih

A3 . .
. 580 UDnhs Hemg

A4 . .
77 euLD WmemeuwD

61 61 You are the farmer of the story "The Apple Tree and the Farmer".

Which memories come to your mind when you taste the fruit of the tree ?

fM Your Childhood memories

'AZ Your Grandfather's memories
‘,A3 Your Daughter's memories

64 Your Father's memories

62 62 Having a friend is like planting a flower'. What figure of speech is used here ?

Al Personification
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Az Metaphor

A3 Simile

‘.A4 Oxymoron

63 63 'Thro scudding drifts, the rainy Hyades
Vext the dim sea....'
The figure of speech employed in the above line is

"A ! Metaphor

62 Personification

3 Transferred Epithet

54 Oxymoron

64 64 Find out the parts of speech of the underlined word :
There was a collection of books in the rack.

fM Noun

A2 Verb

53 Adjective

54 Adverb

65 65 Match the following awards/Medal of P.V. Sindhu under column A with the year

of accomplishment under column B and choose the correct code.

A B
Awards/Medal Accomplished Year
(a) Padma Shri (i) 2013
(b} Arjuna Award (ii) 2017
(c) Silver Medal in Olympics (iii) 2016
(d) Rajiv Gandhi Khel Ratna Award (iv]) 2015

AL @i, (b)), - (), (@i
A2 (@G, ©)-60). (©)- (i), (@)
A @), 060, (0)- (i), (@)

fM (@)-(ii), (b)-(iii), (c)-(iv), (d)-(1)

66 66 I told my wrath, my wrath did end
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'I. told 1t not, my wrath did grow
The poet, William Blake instead of using "ended" and "grew", he used "did end" and "did grow" for emphasizing his

! patience
A2 brilliancy
3 thoughts

wrath

A4

67 67 Find out the synonyms for the underlined word. Rama looked at Ravana furiously.

A politely

62 Gently

3 Angrily
A4

Calmly

68 68 The poetic device " Zoomorphism" means :

Comparing things with animal terms

‘62 Comparing things with human qualities

3 Comparing things with living things' qualities

64 Comparing things with non-living things' qualities

69 69 Fill in the blank with suitable question tag.
Everyone is perfect .

61 isn't they?
fAz Are they?

_A3 Aren't they?

A% 56 they?

70 70 "True stories from History and Biography" is about :
Nathaniel Hawthorne

Al

Az Leo Tolstoy
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A3 Sir Isaac Newton

54 John Keats

71 71 Choose the correct euphemistic expression
Due to COVID 19. My grandmother died.

! passed in
2
passed away

3 passed out

64 passed with

2 72 Use the correct form of the verbs. I (play) basket ball for three hours.
1 .
am playing
A2

play

63 have been playing

fM played

73 73 Which one of the following is not a step in the process of developing reading skill ?
Al griming
Az e

53 Decoding

4 Encoding

I Match Idioms under column A with their meanings under column B.
Column A Column B
{a)  Thelion's share (i) Extremely angry
(b) Watch like a hawk (ii) Very uncomfortable
(c) Fish out of water (iii) Watching carefully

AL GG o)-ii. (€)-0)
A2 (@)-(i). (0)-(ii). (e)-(i)

A3 @i, (b)), (-G
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75

76

77

78

79

75

76

77

78

79

A4 (a)-(i), (b)-(iD), (¢)-(iii)
Choose the correct synonym for the underlined word :
While the mill was at rest, ISSAC Newton pried into its internal machinery.

fM investigate

A2 .
. invent

_A3 construct

‘,A4 made

Choose the rhyme scheme of the following lines : "With neck out-thrust you fancy how
Legs wide arms locked behind
As if to balance the prone brow oppressive with its mind."

,Al abab

éz aabb

53 abba

A4
. aaaa

Complete the conditional clauses :
If T had found her address, | her an invitation.

fM Would have sent

fAz Would have send

"AS Would sent

64 Would send

"Shows only my teeth like a Snake's bare fangs !"
Mention the figure of speech used here.

fM Apostrophe

62 Assonance

53 Metaphor

4 Simile

Choose the correct option to complete the sentence.
You will certainly rewards for what you are doing ?

Al get
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2 was getting

53 had got

‘.A4 be getting

80 80 Which of the following is not one of the processes to be followed while developing hints ?

fM Read the Hints Carefully

52 Strike out unneccesary words
A3

Understand the passage well

_A4 Give a suitable title

81 81 Choose the right question tag from the options given below.
She rarely comes late, .

1 is she?

52 doesn't she?

3 does she?

‘,A4 don't she?

82 82 A multi-word verb made up of a main verb and a particle of preposition or an adverb.

'AI Phrase

‘62 Phrasal verb

3
clause

A

4 Non finite

83 83 Fill in the blanks with correct tense form of the verb.
She said that John in her study for months.

! was helping
fAz helped

fA3 had been helping
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A4 has been helping
84 84 Choose the correct antonym for the italic world.
Ajay mastered the techniques of painting.
1 .
Proficient
A2 Unskilled
‘_A3 Experienced
A% Skilled
85 85 "He never pushed ideas down anyone's throat" means
Al favoured
fA’Z compelled
3 opposed
4 accepted
86 86 Pick out the correct figure of speech and complete the sentence
A is a figure of speech that directly compares two things.

! Personification
2 Simile

53 Metaphor

_A4 Alliteration

87 87 The character name "Moti" in the story
"crossing the river is .

Al . .
~ apoor village girl

"A2 a poor milk maid

,A3 a village farmer

A% little boy

88 88 " have not yet decided whether
I will have the cake or the ice-cream".
Identify the type of connectors employed in the above line :

fM Coordinating
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90

91

92

e

89

90

91

92

‘62 Correlative

‘,A3 Subordinate

64 Main

A minimal unit of meaning or grammatical function is called as :

,AI Morphemes

2 Syntax

53 Pragmatics

_A4 Phoneme

Choose the sentence which doesn't have dependent clause.

fM They rested when evening came.

.AZ With a great effort he lifted the box.

A3 If he is at home, I shall meet him.

64 The evil that men do lives after them.

The arithmetic mean of the data x, 12, 15, 28 and 35 is 20, then the range of the data is :
x, 12, 15,28 LOMMILD 35 er6dTm efleuymigerfler sal (H& Frmaifl 20 eresilev Sjeueeuymiserfler efsa: :

20
A 2
25
A4 3
30
Which of the following statement is correct ?

LNeTeuLd Fammlev e1gl Fifluimeots ?

Al

N

M

A2

Bl AW WK WM
A A
NI NI (il

>
9]
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93

94

95

96

93

94

95

96

M| —
A
=

A

e
S
WK WIN & —

A

Nl N M=
A

1 1 1 1 1 (IS
5_,156_,10_,7_,20_,18_ is:
The range of 3 5 5rlg 3 5 is

1 1 1 1 1 1
5—, 156,10, 7—, 20—, 18— ereD g B : Jur:
e e 5+ 185 er6iTD wglliyseflsr ef&a smesms
Al
AZ 34

30
A3

A4

Hema scored 60% of marks in an Examination. If her score was 360 marks, then find the maximum marks of the examination ?
GamLom @ C5Fallev 60% LG LIG LTS 6L QLIMMITET 2{6u6T QUMHMS! 360 LS LI LIS 6T 6T60l160 24H&
G ialledr QLOME S LS LIG)LIGT0TS: 66T &5 IT600TSs.

Al 1200

1200

AZ 600

600
A3 920
920
A4 920
720
Write the decimal 0.0005 into a simplest fraction form.

H&L0 6T600T 0.0005 83 & (HEIGW 6ulq6ley LN6IT6UTLOTS: 6T(LDSIG.

M
A2 ]
A3
A4

If the mean and median of a distribution are in the ratio 5 : 4 the ratio of median and mode is :
& Lgeuedlesr &rmaifl LoMmmiD G)evLBlemev &I 5:4 6T6dTm R GHSH 6L B)(BIHSHTEV, 2S60T G)60)L[Blemev
WHMID WeEH & wemnim&HenL Guiwimer R SLD :
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Al 4:3
A2
A3
Mo

1:2

97 97 Which of the following is incorrect ?
L9 6560 (1 61 60TEU (D MU ET & 6U M TEOTE! :

_Al If the measure of three angles of a triangle are different, then three sides are different

62([H (& G5 TEU0TEH) 60T eLN6OTMI G5 T600T 61 & EHLD Q1661 G6U M TEITEmEY 6T60T160 LN EOTMI LIG &5 [hI & @HLD
QeUeUGaIMITETEME.
52 If the measure of two angles of a triangle are equal, then two sides are equal
(1 (LP& B8 M600T &S 60T @) 6007 (h GG TEO0T RIS 6T FLOLD 6T60fl6V @) T6toT() LIS SIS ET FLoLD.
53 The sum of the two sides of the triangle is less than third side
Qb (LP5&CH TS 60T JCHEWILD @) (H LI 5 MhIH6T160T G (B GH6V eNETMITID LIS HSmGall Anlugsm@GLb.
4 Sum of three angles of a triangle is 180°
6215 (LN &> B85 MT6u0T & H) 60T eLOEOTMI B85 T600T M1 & 611 60T Fon (PGB 6L 180°
98 98

In the given diagram

A PEN ~ APAD, then find x and y.

P
6cm yem
B 3cm N
2om 2 cm
A X cm D

Camissiull uLsH60 APEN ~APAD eresfléh x mmilbd y -2 STeoms .
P

6 Q&.f yasif

w2

Qg8
2 Qe.f 5 Qg.if

A X Qe D

Al

A2
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o

x=4, y=

N

9 99 An exterior angle of a triangle is 120° and the two interior opposite angles are equal. Then measure of each of these angle will be :

2 (N&CH TS H 60T 62(1H Gl6uerfldGasmesorid 120° LDMHMILD 3G 60T 2 6TQETH 78 B8 ITETT kIS 6T &FLOLD 6T6vf16V,
915G 5 M600T S B 60T 24 6IT6U TEOTS! :

AI 120°
120°
52 60°
60°
;A3 90°
90°
54 30°
30°

100 100 A rectangular garden has dimensions 15mx8m. A path of 4m wide has to be constructed along its sides. What is the area of the path ?

2(h QF6IaIS allgalg CSTL L SHer LIFL0MesormigeT 15 LS x 8 LS. 2 S60T LIG&MhIGm6T MBS 4 LS 31860 (WneTerT
LUMeng emn&&LILGRMS!. B LIMenGulledr LITLILIGTE,| 6T60T60T ?

.Al 170 m?
170 152

180 m?

180 52

A2
.A3 108 m?

108 152
A4 150 m?

150 152

101 101 Which one of the following is incorrect ?

G0 QBMHHSELILL L JaMmiserte 615l Saummersl ?

fM In a parallelogram opposite sides are equal
R ©)60600TS:I5H 60T 6TH TLILIGH GBI 6T FLOLD
.AZ A diagonal of a parallelogram divides it into two congruent triangles
@) 60 6TOT S TS ) 60T 62(1H eLNED VAL L LD 3 FH6060T @)(H FFeUEFLD (L& CHMeuT I &H6eT S LN fl& & eTmg)
3 The opposite angles of a parallelogram are equal

R ©)60600TS: &S 60T 6TH T8 85600 MhIHET FLOLD

54 The diagonals of a parallelogram cannot bisect each other

©)60)6TOT 5755 ) 60T eLN M6V 6 L5155 6T 60T MG WIMTETTMI @)\ (H FLOG For M LTI
102102
A circular shaped garden of perimeter 153 m has to be fenced thrice fully by
al

rope and %of the portion by electrical wire. How many metres are fencad (by
rope and wire) in total 2

62(b UL eulg6ull L RI&TENedT Smmeney 15% 15 9,@LD. lens CLO6IT)
(emm sUNHMEITEYID MHMILD %uggﬂmu Lhlsarany siLNusormenid
GeueduT_Lmed , Sty RisMalnDE s1HHemen WL LT Gauedl ( suNm) mHmjb

lsarg My W) CHemeuliL(pLb?

Al WOim
: 9
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103

104

105

106

103

104

105

106

WOim
9
{\2 5?im
: B
SF’im
?
A3 e

. 1.f2;m
: 3
]
172—m
3
A4 1
. 3l=m
3

Silm
£

The next number of the following pattern 5, 13, 21,29 is :
5,13, 21, 29 6T60TM 6T6v0T {6emLOLILN 6T 2 (&S 6T6uoT.

Al 5

31
AZ 39
39
Y
37
At oy
27

The sum of all exterior angles formed by producing the sides of a convex polygon in the order is :
&alley LIuGB&MetuTS S 60T (convex polygon) LIG & MhI&H 06T [HL(H6UGS 6L 2_600TLMEGLD Qeuerflds Ggsmevor kg erfl 6or
Fn(BHH6V :

.AI 180°

180°
.Az 360°
360°
53 90°
90°
A
0°
How many circles can be drawn from three non-collinear points ?

2CT GHITLIQ60 SeMLOWITS eLpetTml LieTerflaseT auLSlGUl 678 860607 6L L MEIG6T 6Uem T @)UIsILh ?
51
AZ
.A3
Ay

4

The circular path has to be constructed around a circular lawn. If the outer and inner circumferences of the path are 88 cm and 44 cm
respectively, find the width of the path.

(@ UL LLjevQeueflenwd &mm), (@ aUl L LILIMNGS Senn&sLILL66Tengl. AbsL Limenguiler QeuerfliiLm,
2 LLMmEF &HMmeTe|&6T (enmGl 88 Q& .15, 44 Q&.15 eTeof160 IS B L LILITen G U6 2{&H6uLD 6TadTeuT ?

Al 7cm
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7 Q8.8

52 44 cm

44 Q&8
53 14 cm
14 Q&.18
‘:A4 22 cm
22 Q&8

107 107 A bottle can hold 0.35 ml of scent. In how many such bottles scent of quantity 122.5 ml can be filled.

@ LIML19.696V 0.35 1S.69 Sy6may Q&F6sTemL BIFLILIGUTID. 122.5 LA).69) 2y6T6) 2_6iTem Q& 6tTemL LD TS iflwlmeor
6T& G 6meoT LIML_1960& 660 BITLiLIeuTLh ?

Al 55

35
AZ 350
350
A s
35
A4 950

250

108 108
Ravi purchased a% kg of apples, % kg of oranges and 3§kg of

grapes. What is the total weight of the fruits in fon he bought 2

ralf 4% 8.5 aideps, - 5.8 wrge, 35 8.8 Barerys ardf s syt

WTEE W UpmsEals GWwrgs srenl L el -6 eTeauaTey 7

fM 0.09 ton

0.09 L_edT
AZ 0,009 ton
0.009 607
A3 10,0009 ton
0.0009 LedT
‘:A4 0.9 ton

0.9 LedT

109 1109 A circular shaped gymnasium ring of radius 56¢m is divided into 8 equal arcs shaded with different colours. What is the length of each of the
arcs ?

56 QF.15 L TW6TeT QUL L el afleumenT elD6uTITENVI.85 6UEM6TWILNTETS! 8 &0 36M6) 66T eNleL&HETmas Ll
flssliul (G QeuelCaim Blimmkigerfley euetoresor L LiLIL ()6TemI 6Tevflev , 26U 6T el L eNlevedledr Herin
6T60T60T?

;M 41 cm
41 QF.L8
52 42 cm
42 QF.18
:A3 43 cm
43 QF.L8
64 44 cm

4 Q&8

110 /110 A father is 6 times as old as her daughter. After 2 years, the father will be 5 times as old as her daughter. What is father's present age ?
@ QLM S6Tenlen L L0 & 6rfleiT 61 emeoTLIGLITE 6 LOL MG elwGlev Quflwal]. 2 aI(hLBISHEHSHE LInG,
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111

112

113

111

112

113

SJLumailedr euwigl L0& 66T 6uen S LIGLITE 5 LOLMBIE 6760160 D LILImeN6dT SMELIMEs S 6UUIS! 6T60T60r?

Al 59
50
AZ 49
49
A3 48
48
A% 46
46

If' S is the standard deviation of values p, g, r then the variance of p+3,q+3,r+3is:

P, q, r 6TEOTLIGOTEUMH M 60T B L 6eN6u& 81D S 6Tevflev p + 3, q + 3, r + 3 60T LIFeUMLILG
Al g
52

A2g

C

In the adjacent figure ZACB = 90° and CD L AB then the following statement is
comect :

D

C

QarhHlésiul uLgHlsv LACB = 90° wmmib CD L AB stesflsy
Ll siTen(meuseTeum mIsT eTE &ifl ?

:AI AC.BC =CD?
AC.BC =CD?
A2 ADBD-BC?
AD.BD =B(?
A3 AB.AC=CD?
AB.AC = CD?
A% ADBD=CD?

AD.BD = CD?

What percentage to be added with 8 to get 64 ?

GET IT ON

Google Play



https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

Addai2y47 Eooale Play

8 2_L 60T 615560607 FS56I51D CFIHSTV 64 HemL&HGLD ?

Al gy,
8%
AZ g0,
80%

A3 800%
800%
A% 100%
100%

14 114 What is the angle between Hour hand and Minute hand when the time is 1:30 pm ?
&IQHMIEF 6V Loeuof] 1.30 Pm Sj6mell6b G (B EGLD QUITWDSI, F60TerT (LNETEB&HGWD, AUl (WETEB&H G @)L Gl
SIMLIHSE G&sTevorLD :

Al 130°
130°
62 135°
135°

A
. 3 150°
150°
fA4 155°

155°

15 s The temperature at 12 noon at certain place was 19° C above zero. If it decreased at the rate of 4° C per hour at what time it would be 13° C

below zero ?

HE0OT LIS 6V 12 L0615 & @ @)L SH 6T QauliLiBlenev LBl WEHmE&S 19°C GO 2 6Tengl. QeuliLIBlemey Loeauoile &

4°C 651D GBS TV 678 5 6MeuT L0605 & 2f6ualll &5 60T QelliLBleney LBeSlWsHMES 13°C B Q(BHEHELD ?

Al 15 mid night
12 meiterfliyey
62 8 am

8 wo.u
53 8 pm
8 L9
‘64 10 pm
10 9.1
116|116 0.009% is equal to :

0.009 % = ----------
‘_Al 0.90

0.90

A3 0.00009

0.00009
A% 900
0.900
n7 7 Find the HCF of (496, 450) by using repeated subtraction method.
QBT &5 560 (LDemmU6L (496, 450) 6T600TES @5 &G LSLIQLITH QLTS &ITI600fenUss & Teurs.

Al 46
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e

118

119

120

The area of a rhombus with diagonals lengths 10 cm and 12 cm is :
@ FTLFSITSH 60T @)@ eLpemevailL L Migerfler BemmigeT 10 cm, 12 cm 6760160 BG60T LIFLIL]

j“ 120 cm?
120 Q&F.15?
52 60 cm?
60 Q& .57
.A3 30 cm?
30 OF.L5?
A 520 em?

220 Q& .52

In the given figure the values of x, y are ;

QarhHassiule uLGE e (mHbBE X, v 657 EINL @

Al

140°, 40°

140°, 40°
52 40°, 140°
40°, 140°
‘.A3 120°, 60°
120°, 60°
A4 60°, 120°
60°, 120°

In how many ways can you answer 5 multiple choice questions with 4 choices ?

5 ueveyeT Qs Ifley allermaserfley A, B, C Lommitd D Qg fleysefledmbnal Fiflwmer ellemLenwd CHIHO&HH &S
615 & e060T 6N GLOMeT UL &6 2_6Termenr?

Al gt
94
A2 g
95
A s

54
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A4 45

45

121 12l The electric bulb glows as soon as we switch on the battery, because :
LA6T&H 60 S H 60T auadlend 2105 T w e 6T WeTellars @& 6l Teugs Mm@ &TFerL :
Al . . . .
. The drift velocity of electrons is very high

eTeu&L_Imearserfler Ly HlenFGausid W& H&LD.

'A2 The drift velocity of electron is equal to the velocity of light

eTu& L ymetraerfler @l HenaCoausid eeflullea HansCassHmE& FLLb.
‘_A3 The energy is transported from the battery to the light bulb at the speed of light through propagating influence
106186055 9 BB 2 MHmevTergl Lerelleré:a® HE eefluller HenaCoausgH v L6TL6V5 S 60T eLNeULD
LS.

54 The energy is transported from the battery to the light bulb with a velocity greater than the velocity of light

10leTa 605 H BB SMHmevmertsl Larellers:R MG eeflulledr HanaFCassams el 25 &Lnmer
FFCaHSTH 6L QFLRMSI.

122 1122 In a screw gauge pitch scale is graduated in 0.5 mm. The total number of head scale divisions are 100. Then the least count of screw gauge is :
F G 26mall erTilev LifleEsmev 0.5 mm &erfley GmIui L LILIL (B 6TermenT. &60608 &6 100 6T600T6001 186018
Q& meooTL &M UT(H & 606 G185 Metor1q.(HLILN 60T 215607 LIFFR Hmerey :

fM 0.05 mm
0.05 mm
.'/\2 0.005 mm
0.005 mm
é3 0.5 mm

0.5 mm

A4 0.0005 mm

0.0005 mm

123123 What is the wavelength of a sound wave in air at 20°C with a frequency of 22 MHz ?

20°C QeuLiLIBleneuuileh Q&6aILD 22 MHz 25 JGl6U6woT Q& mevorL 260l ulledT 2jemeviBarin :
Al 15.64 < 109 m
15.64 x 10°m
A2 3
T 15.64% 107 m
15.64 x 103 m
.A3 15.64 x 104 m
15.64 x 10% m

A4
. 15.64x10°m

15.64 x 109 m

124 1124 Water strider insect slides on the water surface easily due to :

BrF AeuBH BILILTLLNeTSS eTel1S5 e BHTHS ClF6V6V SITT6UOTLD :

,Al Surface tension
urly gwelena
62 Pressure
SIWSSLD
"A3 Force
allena

64 Viscosity
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125 125 An ideal transformer has 460 and 40,000 turns in the primary and secondary coil respectively then the voltage developed per turn of the

secondary if the transformer is connected to a 230 V AC, mains. The secondary is given to a load of resistance 104 Q. The power delivered to
the load is :

6(H @6V F W LAGTOMHMWLIMEOTS! (LD ETeMLOE & (HET LOMHMILD &6 600TE & ([BHETHET (LD mMEW 460 LOMHMILD 40,000
& HMI&E6ME O &Mevor()emenal. W6 mmHIWITeTgl 230 V AC LNV S SIL 60T @) 6060078 & LILIL_ L6V, S160)600T&
&melelT @ &ML 2_([HeumeoT LAeTeT (D5 & & B 60T eLN6LD, &I60)60TTE & (HEBL 6T 10*Q Ll6TEemLLI LIEH

@) 6m60uTE & LILILL M6V, LiehellH@& 6uLpmhigsLILIL L & meor :

Al 50 kw
20 kW
A2 oskw
25 kW
A3 30kw
30 kW
A% 401w
40 kW

126 126 Select the correct conversion of scales of temperature.

QeuliuBleneuuleT 216uE LHMID SeTef (B WenmuleT Flwmet dnhenm CHe| QF WIS :

Al c-0 _ K-32 F-273

100 180 100

Cc-0 K-32 F-273

100 180 100
A2 k-0 _c-32 _F-273
© oo 180 100
K-0_C-32_F-273
100 180 100
A3
F=0 K—-32 <C-273
100 180 100
FE-OMK-32 C 98
100 180 100

A4

&0 _ F—32 _ k=273
100 180 100

127 127 =
In g decay the atomic number of nucleus increases by one but its mass number

remains same. Fill up the following equation.

CH o N+ +v
p Hengellsit Gurm Hleom asimmenfley amhs alls LIMILTEHIL Gseuos)

2igm)| eTementiley  qpetTml  SiFlEfEEn  aerflsh Usmaumid  FwsTuTLenL
Blrligs :

Lo N4 +o

Al g

A2 0

A3 0
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128 1128 Which one of the following side chain derivative compound ?
BLh&eurLeummlev 618l LSS Fr%ed QST GFFLOLD ?

Al Chloro benzene

&CeTmCIIT @ LIeT & edr

‘,AZ 1, 2-dichloro benzene
1,2 - L &SemmCI T QLTS 60T
‘:/\3 1, 3-dichloro benzene
1,3 - 6L &SermGF T QLTS 60T
64 Benzyl chloride

QUETEn T &CeTmenT(h

129 1129 According to pauling scale of Electronegativity the electronegative difference between two elements is equal to 1.7, then the bond have :
6T6LEL_ITITEIT &H6UTT HetTenLnenll &eoors B GHID, LiMednl oiemei® wnenmuiley, @) 260185 @56 E @) 6L Gl 2 66T
6T6V 8L MedT S6oTemin el GHWIMEFLD 1.7 6Tevf16L LN 6m6vor 1L 60T &60Temin :

‘,Al 60% ionic character and 40% covalent character
60% 2|Weu1g HeTemLowLd 40% &F&LILNen6uorLILIS &eTemLow|Ld
A

2 40% ionic character and 60% covalent character

40% 9|Weollg S6Tenlnu]Ld 60% &F&LILNemetorLIL|g &edreminu|Lh

53 50% ionic character and 50% covalent character

50% 2{Ul6vf1S HETEMLOWILD 50% &F& L1 6 600T IS &60TerLnu]| LD

fA4 80% ionic character and 20% covalent character

80% 2|UWl60f1G SHETeMDW]LD 20% &F&L1LNem 60T 1L & &60TemLow]LD

130 1130 The pure water changes the Litmus paper into :
srw B 69l e smeEpLer efleneryflbS! LTHNSOS &GS DS!.
él Blue changed into Red

Beuld, FeulILIMS LommIh

'A2 Red changed into Blue

FleuliLy, Beulnms LOMMILD
63 Does not change
6THS LOMMHMLOLD @)6V6m6V
_A4 The water is evaporated

B5 spellun&ms
131131 Number of water molecules form co-ordinate bonds with CuSOy . 5H,0 :
CuSOy . 5Hy0 6V 6T&S M6 BT eLO6VE: T MIGET [F &6V F8 LN 6emeuor LILI 60T en6uLD @) 60600788 LILIL (B 6iTera! 2

'AI five water molecules
BHS! B LN6VE T DISET
‘62 four water molecules

BIT6OTE B1J €Ln6V 8580 DI B6IT
_A3 three water molecules
eneTml B eLN6VE & MISET

54 two water molecules
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@uesT® B eL6uss s 118561

1321132 Which one of the following is purified by simple distillation method ?

B LD &85 600TL_6) (D MI6IT 6T&! 6TerfllLl 6UITemay 6l & 56V (Pemmuiledr epeuid SiemliL(GSSILGSR S ?

fM Aniline and Turpentine
360169 60T LOMHMILD LT LI63TEm 60T
.'A2 Nitrobenzene and Benzene
B GO LIGTE 60T LDMHMILD GLI6oTE 60T
A3 Ethyl alcohol and Aniline
THH 6L SLEL&BaMIMEL LMHMILD ) 6ofled 6ot
_A4 Aniline and Glycerol
jeufled 6ot LM MILD Herfl&Fymev

133 133 Calculate the mass percentage of the solute in a solution containing 0.025 g of sugar dissolved in 0.475 g of water.

0.025 RFMD FFSH&HT 0.475 RFTD Hl6 BT LILLHETET &HanTaedle) 2 676 &6 T LMH6T6T Blenm
55607556008 HauTER DS -

Al 950,
25%
A2 25%
2.5%
A3 5o,
5%
A% 4759

4.75%
134 134

Do not use one of the following thermocol resin code for your school projects.

6TH S 6UEM& QTG QHTCLTCSHTameV LieTer Ul avi6iTer & LpHen S 86T HhiIG6T Q&F W HLLEHMNESG LUWaTUB 55
Fa MGl ?

Al L aps
#4PS
éz #5PS
#5PS
A yeps
# 6PS
A% 2 7ps
#7PS
135 135 Which flavour enhancer’s the flavour of food items ?

615 B0 5 & 606U WL LG H6T 2_600T6) 616088611607 &remeuem GLOLDLI() & SIS 60T 60T?

:M Monosodium glutamate

GLOMGETT GFMIQUILD GesBL_ LGl
52 Saccharin

&M1& 86T
‘,A3 Curcumin
GTGSeor
:A4 Carotone
&QTmL19 63T
136 136
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Which of the following matches is comect 2

{a) | Translator mechanism Calotropis
(b) | Lever mechanism Salvia

(] | Trap mechanism Arum

{d] | Pit fall mechanism Aristolochia

£Cp Larfhlsslul [Hsrergley Filwime @)ensmr eremeu ?

(a) | FBIUTEE] GaGsumgpmiilen
Quiiguenn

(b) | GBLYGHTsY FreosHILIT
Blwriigwsnm

[c) [ Purpl urEwenn | 2T

(d] | elpEwl 2fleiul GeomHEIWLT
Bl wenm

A @, 0.0
(@, (), ©)
A ), 0. @

(), (©), (d)
A

3 (c) alone
(c) (LD

A (@) and (b)

(a) LOOILD (b)
137 137
Match Column | (crop) with Column Il [corresponding disease resistant variety)
and select the comect option from the given codes.
Column | Column Il
[a) Wheat (i) Pusa snowball K-1
(b} Cauliflower (ii) Pusa Gauray
(=] Brassica (iii) Pusa A4
(4} Lady's finger (iv) Himgiri
suflens qpemenm (1) (uudy) suflens Erewhiss () (Epmi aSTsHE0
gnelsnLw @raih) QummsSlF sflwmer silenLsnw CaTmhblsHlSsEab :
sufleme - | surfleme - |l
(o) Gargenw (i) uem ussfliiubg K-1
(b)  smedlesNemeury (ii) LL&IT SHEYTeu
) &k (i)  weTA4
(d)  Gleustsremi (iv]  euflib&ifl
Al . . ..
. (@), (b)-(i), (e)-(iv), (d)-(ii)
(a)-(iii), (b)~(1), (¢)-(iv), (d)-(ii)
A2 (@)iv). (b)), ()i, ()-(i)
(a)-(iv), (b)-(i), (c)-(ii), (d)-(iii)
A @40, O, (©(iv). (@)-(ii)
(a)-(1), (b)-(ii), (¢)~(iv), (d)-(iii)
A% (@G, ©)-(iv). (©-(ii). (@-6)
(a)-(id), (b)-(iv), (c)-(iii), (d)-(i)

138 138 All cereals are members of family that are grown for their edible starchy seeds.
2_6O0T600T & 8 1 Ul 6160V 555 @5 & B MT& QUATTE S LILI(HILD 6T606VTE &IM6ufIWLI 616088 6B GLO SHOLUSM S
FMIHSSTSLD.

Al Arecace



https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

Addai24

139

140

141

142

139

140

141

142

9 flGgsed
52 Poaceae
GumGWwend
A3 .
.~ Leguminaceae

(AN fzua)]

4 Solanaceae

Q& meuGeorerd

Sunken stomata are seen only in :

2 LGWIHsDbHS @) 6es SI606TaH6T &Imeor LB LIS :
fM Hydrophytes
BIGUTLDS & T T IG5 6T
62 Mesophytes

@60 L Blemevd; &TalITTEIG 6T
.A3 Xerophytes

QUM EHT L 161608 & 6L [T 16185 6iT
‘,A4 Halophytes

2 aIf FSILIL| 6608 M6 G 6T

Phyto planktons are the example for :

Wgemear 2 uUiflser @eummlnE& 2 &MIeTd SbL@&LD :

1
Consumer

BI&TCRUTT&6T

A2 Decomposer

FenGLILIMEUSHET

:A3 Producer

2 MHUGSH WITET TS 6T
64 Carnivores

D6IETOT 60T 6001185 61T

Consider the following statement :

(a) In protandrous flowers stamen matures earlier.

(b) In protogynous flowers stamen matures earlier.

(c) Herkogamy is noticed in bisexual flowers.

(d) Di styly is present in Lythrum.

Q&BTHESLILLBHGTET FoHMIGEMET &(HSHH 6V GG M6 :

(2) 6007 (PETLH T6 LDEVTE6T6L LD&THS S METEET (6T (PG TEFSF WemL LD,
(b) QILI6TOT (LNETUNHT6Y LDV GHETI6V DS HS S TETEHET (60T (NG T&F T emLW]|LD.
(c) @BUTeL LeVF&H6TleL QanTCHTESHL & ILGHMSI.

(d) MELSTID @)1 EV&HES6T(H BETLEOL WIS,

A

1 (a) and (c) are correct
(a) OO (¢) FFlWTeTEn6Y
'A2 (b) and (d) are correct

(b) LOHMILD (d) FlwmeTenel
A

3 (b) and (c) are correct

(b) HMILD (c) FNlWITeTEnE
A

4 (a) and (d) are correct
(a) LDHMILD (d) FiflwmeTen ey

The essential parts of the flowers are :
106vfledT @)60T NI WIEMLOWITS LIME:BIGET :

GET IT ON

Google Play
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fM Calyx and corolla

Levedl aul_ LD InMmMID 96v6d aul’ L1
‘,A2 Calyx and Androecium

116060 GUL_L LD LoMMILD LO&THSSTET Ul L LD
53 Corolla and Gynoecium

2j6060 QUL LD LDMHMILD G6V& Il LD
‘64 Androecium and Gynoecium

I0&THS ST eUL L LD LOMHMILD G6V& UL L LD
143143 Malpighian tubules or green glands are the excretory organs found in the members of the phylum :

sfley B&Hs 2 MILILG&ETTS WML WET G &ET SI6V6VE! LIFan& &TLILGmeT Q& Teuor(hleTeT 66V & 6T
SLBIRW QOFTESGS) :

! Annelida
QUL S6MTFLIL|(LDE 86T

52 Mollusca

QLeusyI L6 & e
A3 Platyhelminthes
SLeOLLIL|(DE&H6T

A4 Arthropoda

5 550)1 5> 5 T60\ & 6T

144 144 Hormone causing 'Let down reflex' during delivery :
GLbemng NplulilearCunag 'BlIFLUbBS oeallFamad QFweame' gHUB SSID amiTFGLOTeT :

Al Oxytocin

21,56 GLT& 6T
52 Vasopressin

aumGerumLilrervendl 6ot

3 Prolactin
LIGJTeVIT&s 19 60T
4 Luteinizing Hormone
QITL LG 60 60TE I QD IT T GLO MedT
145 145 All women are born with ovaries, but some do not have functional uterus. This condition is called.
2|METS S G)LIGTITS: GMHLD 2 6U0T LIS @5 L_60T LM & & 60T meuT T 21,6016l Flev([h& & QFWevLI(BID &(BLImL
@ HSHHTS. @)bHIBeM6 6TeUEUTMI HDMLPESLILGSHMmS! ?
,Al Polycystic ovary
21600T L5551 1q 56T
‘,A2 Mayer-Rokitansky syndrome
CLW CImHLMeTevE GBS GamOUThH
"AS Cryptorchism
emm 6flbHE &0
64 Braxter-Hick's contraction
LN m&eL - a8 e & (H& & miIg 6T
146 146 A child which is affected by Down's syndrome. What is the condition of 215t chromosome that the child have ?

2(h GLHNS L 66T CHMULSEGMUTL LML LMTHS&&ELILL HETeTS!. 216G LB U6 21-a18 &CTTC TG TLdledr
IB160)6V 6TGOT6OT ?

Al 51
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241
A 9102
21-2
A3y
20-1
A olia
2042

147 147 Find the correct pair :
Fflwmer @enenrenws CHIHASHIG&HLD :

Al Cuttle Fish - Mollusca
& 600TaU MU LSEOT& 6T -QLD6LaYI L 60l & 6T
‘:\2 Mullet - Echinodermata
PVeVL - (PLBH e S6iT
3 Octopus - Echinodermata
S,HGLITLEN - (LG5 medl &6
'A4 Salamander - Reptiles

FTEVLDITEOOTL_I[J - DET[T6) 60T

148 148 Select the correct pair from given tissue and function :
Q&BTH&SLILLBH6TET B & &6 InMmmILD eumnieir Liesofg&erflev Fiflimest @ emeorenls CSHTHASHI&S LD :
Al - . .
. Columnar epithelium - Secretion and absorption

aeoor TG0 WILD — &S SH60 LMMID 2 M EhHFSH60.

62 Glandular epithelium - Protects the body from mechanical injury and invasion of germs

&I6GLD TS0 WID - HTWmISET IMHmID GBS RBLAGET 2 1 LG5 BHE 2 Lemev LINSISTERMS.
3 Ciliated epithelium - Secretes chemical substances at the epithelial surface

Goiuwillen 61986 wib - TG WwEH 60T LU LFLiiley CeuSLl QUIMTIHL G606 & (78 S 60Tm 601
'A4 Squamous epithelium - to move particals or mucus in a specific direction over the epithelium
SLenL TLISe0WILD — S156TEH 6T 3|6V6VSI GH TP MET [ GMILLILL Heansulley erlF e wgHeor Wa
B&EISSaIg!.
149 1149 Delta cells of islets of langerhans secretes the hormone called :
TG Fam MeofledT HL_(H&6rlev 2_6T6T QLT QFUG&HETTE &S &LILMLID amTFGLOTET 6TS! 2

Al Glucagon

& @555 5 TeT
‘62 Insulin
@) 6018+ 601 60T
53 Glycogen
B o6 Ca TR 60T
A4

Somatostatin

Q&ML GLMerVGL Lg.60T
1501150 Which is the correct sequence of blood flow ?

QUSSR LI heoLoumib sflwmer aulflens e1gi ?

AI Atrium — ventricle — arteries — vein

gLflwib — Qeueor_ & 6T — Hneoll — Femiy
A2 . . . .
~~ Ventricle — atrium — vein — arteries

Qeuetor_If1ReT — gL_flwih — Flemiy — HLneofl
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A3 Ventricle — vein — atrium — arteries

Qeueor &6 — Feny — gLflwib — sloeofl
A4 . . .
. Atrium — ventricles — vein — arteries

gLl — Qeuer_f1H6T — Fevy — FLoeofl

GET IT ON

Google Play
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